
Directions (1 – 4) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1 & 4) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. Rain : Umbrella : : Flood : ?

o"kkZ % Nkrk % % ck<+ % \
(A) Bridge/iqy (B) Electricity/fctyh
(C) Dam/ck¡/ (D) Water/ikuh

2. Man : House : : ?

euq"; % ?kj % % \
(A) Cat : Mouse/fcYyh % pwgk
(B) Beast : Den/tkuoj % ek¡n
(C) Tree : Plant/isM+ % ikS/k
(D) Cage : Rat/fiatjk % pwgk

3. BORE : 10 : : HOTEL : ?
(A) 12 (B) 15
(C) 25 (D) 30

4. 6 : 12 : : 20 : ?
(A) 50 (B) 30
(C) 42 (D) 38

Directions (5 – 7) : Find the odd word/letters/
number pair/number from the given

alternatives.

funsZ'k (5 & 7)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
5. (A) Parrot/rksrk (B) Bat/pexknM+

(C) Crow/dkSok (D) Sparrow/xkSjs;k
6. (A) 6895 (B) 6958

(C) 7948 (D) 9783
7. (A) BCDE (B) PQRS

(C) WXYZ (D) STUW
Directions (8-9) : In the following questions, a
series is given with one terms missing. Choose
the correct alternative from the given ones that
will complete the series:

funsZ'k (8-9) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k gS
ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh fodYi
pqfu, tks vuqØe dks iwjk djsaA
8. 118, 182, 186, 222, ____

(A) 318 (B) 266

(C) 258 (D) 226

9.
1

7
7

, 
2

8
6

, 
5

9
5

, 
2

12
4

, 
2

16
3

, _____

(A)
3

35
4

(B)
4

16
4

(C)
50

2
(D)

2
15

4

Directions : In question no. 10, which one set

of letters when sequentially placed at the gaps

in the given letter series shall complete it?

funsZ'k % iz'u u- 10  esa] v{kjksa dk dkSu&lk lewg [kkyh LFkkuksa
ij ozQeokj j[kus ls nh xbZ v{kj J`a[kyk dks iwjk djsxk\
10. ZX _ TR _ NLJ _ FD _

(A) VPHB (B) VRHB

(C) UPJB (D) UPJD

Direction (11-12) : In question no 11 to 12,

select the missing number from the give

responses.

funsZ'k (11-12) : iz'u la[;k 11 ls 12 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A

11. 5

16

49

 9

29

89

 15

?

147

(A) 45 (B) 48

(C) 51 (D) 54

12. 8

6 54 7

4

 12

8 51 4

7

 14

9 ? 5

9

(A) 53 (B) 68

(C) 71 (D) 76

13. From the given alternative words, select the

words which can't be formed by using the

letters of the given word.

fn, x, oSdfYid 'kCnksa esa ls] ml 'kCn dk p;u djsa] tks
fn, x, 'kCn ds v{kjksa dk iz;ksx dj ugha cuk, tk ldrs
gSaA
PERMANENT

(A) REMNANT

(B) TRAMP

(C) MENTOR

(D) AMPERE

14. If ÷ means +, – means ÷, × means – and

+ means ×, then 
(36 4) – 8 4

4 8 2 16 1

 

   
 = ?

;fn ÷ dk eryc +, – dk eryc ÷, × dk eryc – vkSj

+ dk eryc × gS] rks 
(36 4) – 8 4

4 8 2 16 1

 

   
 = ?

(A) 0 (B) 8

(C) 12 (D) 16

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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15. In certain code language if LIBERATE is
written as 56423172, then how TRIBAL will
be written in the same code?

;fn fdlh lkadsfrd Hkk"kk esa LIBERATE dks 56423172

fy[kk tkrk gS] rks mlh lkadsfrd Hkk"kk esa TRIBAL dks fdl
izdkj fy[kk tk,xk\
(A) 736415 (B) 673451
(C) 476315 (D) 743615

16. Two position of a die has been shown here.
Which digit will be at top when 3 is at bottom.

;gk¡ ikls dh nks voLFkkvksa dks fn[kk;k x;k gSA tc vad 3
uhps gS] rks Åij dkSu&lk vad vk,xk\

4

1 2

4

5 3

(A) 4 (B) 5
(C) 2 (D) 1

17. Arrange the words given below in a
meaningful sequence.

fuEu 'kCnksa dks ,d lkFkZd Øe esa O;ofLFkr djsaA
1. Accident/nq?kZVuk 2. Judge/U;k;/h'k
3. Doctor/fpfdRld 4. Lawyer/odhy
5. Police/iqfyl
(A) 1, 3, 4, 2, 5 (B) 1, 3, 5, 4, 2

(C) 1, 2, 3, 4, 5 (D) 1, 2, 5, 4, 3

18. Which of the following diagrams indicates
the best relation between teacher, scholar
and student ?

fuEu esa ls dkSu&lh vkd`fr f'k{kd] fo}ku rFkk fo|kFkhZ ds
chp laca/ crkrh gS\

(A) (B)

(C) (D)

19. Choose the correct mirror image of the
given question figure from amongst the four
alternative, if YX is a mirror.

fn, x, pkj fodYiksa esa ls iz'u vkÑfr dk lgh niZ.k
izfrfcEc dk p;u djssa ;fn YX niZ.k gSA

Question figure/iz'u vko`Qfr%
Y

X

Answer figures/mÙkj vko`Qfr;k¡%

(A) (B) (C) (D)

20. Identify the figure that will complete the

pattern.

ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA

Question figure/iz'u vko`Qfr %

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)

21. Choose from the four answer figures the

figure that will be formed when the question

figure is folded into a box.

fn, x, pkj mÙkj vkd`fr;ksa esa ls ml vkd`fr dk p;u djsa
tc iz'u vkd`fr dks ,d ckWDl ds :i esa eksM+k tk,xkA
Question figures/iz'u vko`Qfr;k¡ %

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)

22. Select the alternative in which the question

figure can be found.

ml vkÑfr dk p;u djsa ftlesa iz'u vkÑfr fufgr gSA
Question figure/iz'u vko`Qfr%

Answer figures/mÙkj vko`Qfr;k¡%

(A) (B) (C) (D)
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23. At what time between 6 and 7'o clock the
hands of a clock concide?

6 vkSj 7 cts ds chp fdl le; ?kM+h dh lqbZ;k¡ vkil esa
feyrh gS\

(A)
8

32
11

 min past 6/6 ctdj 
8

32
11

 feuV

(B)
8

34
11

 min past 6/6 ctdj 
8

34
11

 feuV

(C)
8

30
11

 min past 6/6 ctdj 
8

30
11

 feuV

(D)
5

32
7

 min past 6/6 ctdj 
5

32
7
 feuV

Directions (24): Two statement is given followed
by two conclusions I and II. You have to
consider the statement to be true, even if they
seem to be at variance from commonly known
facts. You have to decide which of the given
conclusions, if any, follow from the given

statements.

funsZ'k (24): nks dFku fn;s x;s gSa] ftuosQ vkxs nks fu"d"kZ
I rFkk II gSaA vkidksa dFkuksa dks lR; ekudj fopkj djuk gS]
pkgs og lkekU;r% Kkr rF;ksa ls fHk=k izrhr gksrs gksaA vkidks
fu.kZ; djuk gS fd fn, x, fu"d"kksZa esa ls dkSu&lk fuf'pr :i
ls fn, x, dFkuksa }kjk lgh fudyrk gS] ;fn dksbZ gksA
24. Statement/dFku%

All carts are cars./lHkh xkM+h] dkj gSaA
All cars are trains./lHkh dkjsa] jsyxkM+h gSaA
Conclusions/fu"d"kZ%
I. All carts are trains./lHkh xkM+h] jsyxkM+h gSaA
II. All trains are carts./lHkh jsyxkM+h] xkM+h gSaA
(A) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(B) Only conclusion II follows.

dsoy II vuqlj.k djrk gSA
(C) Both conclusion I and II follow.

nksuksa fu"d"kZ I vkSj II vuqlj.k djrs gSaA
(D) Neither conclusion I nor II follows.

u rks fu"d"kZ I vkSj uk gh II vuqlj.k djrk gSA

25. A word is represented by only one set of

numbers as given in any one of the

alternatives. The sets of numbers given in

the alternatives are represented by two

classes of letters as in two matrices given

below. The columns and rows of Matrix-I are

numbered from 0 to 4 and that of Matrix-II

are numbered from 5 to 9. A letter from

these matrices can be represented first by

its row and next by its column. E.g., ‘M’ can

be represented by 42, 31 etc., 'P' can be

represented by 95, 88 Similarly, you have

to identify the set of numbers for the word

‘ROST’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk

fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr

dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘M’ dks

42, 31 }kjk n'kkZ;k tk ldrk gS] 'P' dks 95, 88 }kjk
n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn ‘ROST’ ds

fy, la[;k lewg dks igpkuuk gSA
    Matrix-I/vkO;wg-I       Matrix-II/vkO;wg-II

0 1 2 3 4

4 K L M N O

3 L M K O N

2 N O L M K

1 M N O K L

0 O L N L M

 

5 6 7 8 9

9 P Q R S T

8 T S Q P R

7 R T S Q P

6 S P T R Q

5 Q R P T S

(A) 56, 44, 67, 40

(B) 97, 21, 66, 29

(C) 75, 00, 10, 92

(D) 68, 33, 65, 58
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
26. Which amongst the following states/UT has

not identified tribal community?

fuEu esa og jkT;@la?k jkT; {ks=k dkSu&lk gS] ftlesa dksbZ
vfHktkr tu&tkrh; leqnk; ugh gS\
(A) Chhattisgarh/NÙkhlx<+
(B) Haryana/gfj;k.kk
(C) Maharashtra/egkjk"Vª
(D) Karnataka/dukZVd

27. Among the following, which one is not an
ape?

fuEufyf[kr esa ls ,d canj ugha gS\
(A) Gibbon/fxCcu (B) Gorilla/xksfjYyk
(C) Langur/yaxwj (D) Orangutan/vkjaxqVku

28. Vulcanization of rubber is carried out by
adding:

jcj dh oYdsukbts'ku ds fy, mlesa feyk;k tkrk gS&
(A) Sulphur/lYiQj
(B) Carbon/dkcZu
(C) Ozone/vkstksu
(D) Phosphorus/iQkLiQksjl

29. Which one of the following is an

insectivorous plant?

fuEufyf[kr esa ls dkSu&lk ,d dhVHk{kh ikS/k gS\
(A) Passion flower plant/tquwu iQwy ds ikS/s
(B) Pitcher plant/fipj IykaV
(C) Night queen/jkr jkuh
(D) Flame of the forest/taxy dh Tokyk

30. Where is the headquarters of the

Confederation of Indian Industry (CII)?

Hkkjrh; m|ksx ifjla?k (lhvkbZvkbZ) dk eq[;ky; dgk¡ ij
gS\
(A) Pune/iq.ks (B) New Delhi/ubZ fnYyh
(C) Bhopal/Hkksiky (D) Raipur/jk;iqj

31. What is the theme of the first-ever World

Tsunami Awareness Day (WTAD)?

igyh ckj fo'o lqukeh tkx:drk fnol (WTAD) dk
fo"k; (Fkhe) D;k gS\
(A) Reduce Mortality, Raise awareness/

fjM~;wl eksVsZfyVh] jst vos;jusl
(B) Knowledge for Life/ukWyst iQkWj ykbiQ
(C) Live To Tell: Raising Awareness/ykbo Vw

VSy% jsftax vos;jusl
(D) Effective Education and Evacuation

Drills/biQsfDVo ,tqds'ku ,aM boSD;woS'ku fMªYl

32. The Assam state derives its name from that

of a tribe that conquered the region. Where

did the tribesmen come from?

vle jkT; dk uke ml tutkfr ij j[kk x;k Fkk ftlus ml

{ks=k dks thrk FkkA ;g dchyk dgk¡ ls vk;k Fkk\

(A) Tibet/frCcr

(B) Mongolia/eaxksfy;k

(C) Burma (now Myanmar)/cekZ (vc E;kaekj)

(D) Siam (now Thailand)/L;ke (vc FkkbZySaM)
33. The book "An Era of Darkness: The British

Empire in India" has been authored by

whom?

iqLrd ¶,u ,jk vkWiQ MkdZus'k% n fczfV'k ,Eik;j bu bafM;k¸

fdlds }kjk fy[kh xbZ gS\

(A) Amrish Tripathi/vejh'k f=kikBh

(B) Hamid Ansari/gkfen valkjh

(C) Shashi Tharoor/'kf'k Fk:j

(D) Romesh Dutt/jkses'k nÙk
34. From the third century AD when the Hun

invasion ended the Roman Empire, the

Indian merchants relied more and more on

the:

rhljh 'krkCnh bZLoh esa tc gq.kksa ds vkØe.k ls jkseu lkezkT;

dh lekfIr ds i'pkr~ ij Hkkjrh; O;kikj vf/d ls vf/d

fuHkZj jgrs Fks&

(A) African trade/vÚhdh O;kikj ij

(B) West-European trade/if'peh&;wjksih; O;kikj

ij

(C) South-East Asian trade/nf{k.k&iwoZ ,f'k;kbZ

O;kikj ij

(D) Middle-Eastern trade/eè;&iwohZ O;kikj ij
35. Which state government has recently inked

MoU with Union Ministry of Civil Aviation

for Regional Connectivity Scheme (RCS)-

UDAN?

fdl jkT; ljdkj us gky gh esa {ks=kh; laidZ ;kstuk

(vkjlh,l)-UDAN ds fy, ukxfjd mM~M;u ea=kky; ds

lkFk le>kSrk dj Kkiu ij gLRkk{kj fd, gS\

(A) Assam/vle

(B) Odisha/mM+hlk

(C) Haryana/gfj;k.kk

(D) Madhya Pradesh/eè; izns'k
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36. Who among the following streamlined the
Maratha administration after Sambhaji?

fuEu esa ls dkSu lkaHkkth ds ckn ejkBk iz'kklu dks lqO;ofLFkr
fd, Fks\
(A) Raja Ram/jktkjke
(B) Balaji Vishwanath/ckykth fo'oukFk
(C) Ganga Bai/xaxkckbZ
(D) Nanaji Deshmukh/ukukth ns'keq[k

37. "Petrotech-2016" the International Oil and
Gas Conference and Exhibition will be held
in which city?

varjkZ"Vªh; rsy ,oa xSl lEesyu vkSj izn'kZuh ¶isVªksVsd-

2016¸ fdl 'kgj esa vk;ksftr fd;k tk,xk\
(A) New Delhi/ubZ fnYyh
(B) Tokyo/Vksfd;ks
(C) Tehran/rsgjku
(D) Kabul/dkcqy

38. Match List I with II and select the correct
answer using the codes given below the
lists.

lwph-I dks lwph-II ls lqesfyr dj uhps fn, x, lwfp;ksa ds
izof̀"V;ksa esa ekStwnk dwVksa dk mi;ksx dj lgh mÙkj dk p;u
djsaA
List-I/lwph-I List-II/lwph-II
(Period)/(vof/) (Event)/(?kVuk)
a. 1883 1. Announcement of

Communal Award

from Whitehall/

fczfV'k ljdkj }kjk
lkaiznkf;d iqjLdkj dh
?kks"k.kk

b. 1906 2. Formation of the
All India State
Peoples Conference

vf[ky Hkkjrh; LVsV
ihiqYl dkaUÚsl dk xBu

c. 1927 3. Foundation of
Muslim League at

Dacca/<kdk esa eqfLye
yhx dk xBu

d. 1932 4. First session of
National Conference

at Calcutta/dydÙkk
esa us'kuy dkUÚsal dk
igyk l=k

Codes/dwV%
a b c d

(A) 4 3 1 2
(B) 3 4 1 2
(C) 4 3 2 1
(D) 3 4 2 1

39. The "Red Data Books'' published by the

International Union for Conservation of

Nature and Natural resources (IUCN)

contains lists of?

varjkZ"Vªh; izdf̀r laj{k.k la?k vkSj izkd`frd lalk/uksa }kjk

izdkf'kr ¶jsM MkVk iqLrdsa¸ esa lwfp;k¡ lekfo"V gS\
1. Endemic plant and animal species

present in the biodiversity hotspots./

tSo fofo/rk esa ekStwnk LFkkuh; ikS/s vkSj i'kq iztkfr;ksa

ds vkd"kZ.k dsanz ds fy,A
2. Threatened plant and animal species./

foyqIr gksus dh dxkj ij ikS/s vkSj i'kq iztkfr;k¡A
3. Protected sites for conservation of

nature and natural resources in various

countries./fofHkUu ns'kksa esa izdf̀r vkSj izkd`frd

lalk/uksa ds laj{k.k ds fy, lqjf{kr LFkkuA
Select the correct answer using the codes

given below.

uhps fn, x, dwV dk iz;ksx djds lgh mÙkj dk p;u djsaA

(A) 1 and 3/1 vkSj 3

(B) 2 only/dsoy 2

(C) 2 and 3/2 vkSj 3

(D) 3 only/dsoy 3
40. Plimsoll line is a reference line in a:

fIyelksy ykbu ds lanHkZ esa gS&

(A) Plane/foeku

(B) Train/jsyxkM+h

(C) Ship/tgkt

(D) Submarine/iuMqCch
41. Pandit Amaradeva, who died recently, was

the music legend of which country?

iafMr vejnso] ftudk gky gh esa fu/u gks x;k gS] og fdl

ns'k ds izfl¼ laxhrdkj Fks\

(A) India/Hkkjr

(B) Nepal/usiky

(C) Sri Lanka/Jhyadk

(D) Bhutan/HkwVku
42. The amount of chlorine available in water

after disinfection is called as:

folaØe.k ds ckn ty esa miyC/ Dyksjhu dh ek=kk dks dgrs

gS&

(A) Free chlorine/eqDr Dyksjhu

(B) Residual chlorine/vof'k"V Dyksjhu

(C) Free available chlorine/eqDr miyC/ Dyksjhu

(D) Combined available chlorine/la;qDr miyC/

Dyksjhu
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43. Generally, the soil of the northern plains of
India has been formed by

lkekU;r% Hkkjr dk mÙkjh eSnku fdl feV~Vh }kjk fufeZr gS\
(A) degradation/vid"kZ
(B) aggradation/Hkwfeo`f¼
(C) weathering in situ/vi{k;
(D) erosion/vi{kj.k

44. What provision in the constitution enabled
the Central Government to impose the
service tax and to expand its span?

lafo/ku ds fdl izko/ku us dsUnz ljdkj dks lsok dj yxkus
vkSj mldh vof/ c<+kus dk vf/dkj fn;k\
(A) List 1, Schedule 7/lwph 1, vuqlwph 7
(B) List 3, Schedule 7/lwph 3, vuqlwph 7
(C) Residuary Powers under Article 248/

vuqPNsn 248 ds varxZr vof'k"V 'kfDr;k¡
(D) Emergency Powers/vkikrdkyhu 'kfDr;k¡

45. A man cannot see clearly beyond 10 meters.
The disease he suffers from is:

,d vkneh dks 10 ehVj dh nwjh ls vkxs Li"V :i ls ugha
ns• ldrk gSA og jksx ls xzLr gS&
(A) Far sight/nwjn`f"V nks"k
(B) Myopia/fudVǹf"V nks"k
(C) Cataract/eksfr;kfcUn
(D) Hypermetropia/nh?kZnf̀"V nks"k

46. In a business, raw materials, components,
work in progress and finished goods are
jointly regarded as

,d O;olk; esa] dPpk eky] vo;o] dk;Z esa izxfr vkSj
rS;kj eky la;qDr :i ls dgk tkrk gS&
(A) capital stock/iwathxr LVkWd
(B) inventory/oLrq lwph
(C) investment/fuos'k
(D) net worth/dqy ewY;

47. Devaluation means

voewY;u dk vFkZ gS
(A) Depreciation of the fixed assets/fLFkj

ifjlEifÙk dk ewY;ßkl
(B) Increase in the currency value in terms

of foreign currency/fons'kh eqnzk ds ekeys esa
eqnzk ewY; esa of̀¼

(C) Reduction in the external value of

currency/eqnzk ds cká ewY; esa deh
(D) Fall in valuation of the essentials in an

economy/vFkZO;oLFkk esa vko';d oLrqvksa ds
ewY;kadu esa fxjkoV

48. Sometimes computers and cache registers

in a foodmart are connected to a UPS

system. What does UPS mean ?

dHkh dHkh ,d iqQMekVZ esa daI;qVj vkSj ds'k jftLVj ;w-ih-

,l- iz.kkyh ls tqM+s gksrs gSA ;w-ih-,l- ls D;k rkRi;Z gS \

(A) United Parcel Service/;qukbVsM iklsZy lfoZl

(B) Uniform Product Support/;qfuiQkeZ izksMDV

liksVZ

(C) Under Paneling Storage/vMj iSusfyax LVksjst
(D) Uninterruptable Power Supply/

vubUVjsIVscy ikoj lIykbZ
49. Which among the following metals provides

amphoteric oxide?

fuEu esa ls dkSu&lh /krq mHk;/ehZ vkWDlkbM iznku djrh gSa\

(A) Sodium/lksfM;e

(B) Silver/pkanh

(C) Aluminium/,Y;wehfu;e

(D) Calcium/dSfYl;e
50. Match List-I with List-II and select the

correct answer using the code given below

the Lists

lwph-I vkSj lwph-II dks lqesfyr djs vkSj uhps nh xbZ lwph

esa dksM dk iz;ksx djds lgh mÙkj dk pquko djsA

List-I/lwph-I List-II/lwph-II
(a) Member of 1. Elected by an

Parliament/ Electoral College/

laln dk lnL; fuokZpu eaMy }kjk fuokZfpr
(b) President/ 2. Elected by the

jk"Vªifr Parliament/laln

}kjk fuokZfpr
(c) Vice-President/ 3. Elected by the Lok

mi&jk"Vªifr Sabha/yksdlHkk }kjk

fuokZfpr

(d) Speaker/vè;{k 4. Elected by adult

voting/o;Ld ernku

}kjk fuokZfpr

Code:/dksM
(a) (b) (c) (d)

(A) 1 2 3 4

(B) 2 3 4 1

(C) 3 4 1 2

(D) 4 1 2 3
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
51. When 75% of a number is added to 75, the

result is the same number. Find the

number.

fdlh la[;k ds 75% esa tc 75 tksM+k tkrk gS] ifj.kke ogh
la[;k vkrh gS] rks la[;k Kkr djsaA
(A) 225 (B) 270

(C) 300 (D) 325

52. A person on selling an article for ` 96 finds

that his loss percent is one-fourth of the

amount of rupees that he paid for the

article. What can be cost price?

,d nqdkunkj }kjk oLrq dks ̀  96 esa cspus ij ;g ik;k x;k
fd mldk gkfu izfr'kr Ø; ewY; ds ,d&pkSFkkbZ ds cjkcj
gS] rks oLrq dk Ø; ewY; Kkr dhft,A
(A) ` 160

(B) ` 240

(C) ` 160 or/;k ` 240

(D) ` 480

53. A sum of money becomes 
41

40
 of itself in 

1

4

year at a certain rate of simple interest.

The rate of interest per annum is:

dksbZ /ujkf'k lk/kj.k C;kt dh fdlh nj ls 
1

4
 o"kZ esa Lo;a

dk 
41

40
 xq.kk gks tkrh gSA okf"kZd C;kt nj gS&

(A) 10% (B) 1%

(C) 2.5% (D) 5%

54. An amount of ` 8000 lent at 5% per annum

compound interest for 2 years will become:

` 8000 dh m/kj nh xbZ jkf'k 5% okf"kZd pØo`f¼ C;kt
dh nj ls 2 o"kksZa esa fdruh gks tk,xh\
(A) ` 8815 (B) ` 9000

(C) ` 9800 (D) ` 8820

55. Two vessels A and B contain milk and water

mixed in the ratio 4 : 3 and 2 : 3. The ratio

in which these mixtures be mixed to form a

new mixture containing half milk and half

water is:

nks crZuksa A vkSj B esa nw/ vkSj ikuh dk vuqikr Øe'k%
4 : 3 vkSj 2 : 3 gSA bu crZuksa ds feJ.k dks fdl vuqikr
esa feyk;k tk, dh u, feJ.k esa vk/k nw/ o vk/k ikuh gks\
(A) 7 : 5 (B) 6 : 5

(C) 5 : 6 (D) 4 : 3

56. If two-third of A is four-fifth of B, then A : B = ?

;fn A dk 
2

3
oka fgLlk B ds 

4

5
osa fgLls ds cjkcj gks] rks

A : B Kkr djsaA
(A) 5 : 6 (B) 6 : 5

(C) 10 : 9 (D) 9 : 10

57. A can do a piece of work in 25 days and B

can do the same work in 30 days. They work

together for 5 days, how much work is left?

A fdlh dk;Z dks 25 fnukas esa rFkk B mlh dk;Z dks 30 fnuksa
esa dj ldrk gSA nksuksa 5 fnuksa rd lkFk dk;Z djrs gSa] rks vc
fdruk dk;Z 'ks"k jg x;k gS\

(A)
15

30
(B)

11

30

(C)
12

30
(D)

19

30

58. A cylindrical cistern of diameter 50 cm is

full of water. If 22 litres of water is drawn

off, the water level in the cistern will drop

by (Use  = 
22

7
)

50 lseh- O;kl okyh csyukdkj Vadh ikuh ls Hkjh gqbZ gSA ;fn
22 yhVj ikuh fudky fy;k tk, rc Vadh esa ikuh dk Lrj
fdruk de gksxk\

(A)
1

11
5

 cm/lseh- (B)
6

12
7

 cm/lseh-

(C)
1

10
2

 cm/lseh- (D)
2

20
5

 cm/lseh-

59. A train covers a distance between station A

and station B in 45 minutes. If the speed of

the train is reduced by 5 km/hr, then the

same distance is covered in 48 minutes.

The ditance between station A and B is:

,d jsyxkM+h A rFkk B LVs'kuksa ds chp dh nwjh 45 feuV esa
r; djrh gSA ;fn ml jsyxkM+h dh xfr esa 5 fdeh@?k.Vk dh
deh dj nh tk, rks og nwjh 48 feuVksa esa r; gksrh gSA
rn~uqlkj] A rFkk B LVs'kuksa ds chp dh nwjh fdruh gS\
(A) 60 km/fdeh-
(B) 64 km/fdeh-
(C) 80 km/fdeh-
(D) 55 km/fdeh-
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60. The average of three numbers is 154. The
first number is twice the second and the
second number is twice the third. The first
number is:

3 la[;kvksa dk vkSlr 154 gSA igyh la[;k nwljh ls nqxquh
gS vkSj nwljh la[;k rhljh ls nqxquh gSSA igyh la[;k gS&
(A) 264 (B) 132
(C) 88 (D) 66

61. 3 332 32 – 3 4 500 ? 

(A) 34 6 (B) 3 24

(C) 36 4 (D) 916

62. If 
x

a
 = 

1

a
 – 

1

x
, then the value of x – x2 is:

;fn 
x

a
 = 

1

a
 – 

1

x
 gS] rks x – x2 dk eku gS&

(A) –a (B)
1

a

(C) a (D)
1

–
a

63. I is the incentre of a triangle ABC. If ACB
= 55° and ABC = 65°, then the value of BIC
is:

I f=kHkqt ABC dk var%dsUnz gSA ;fn ACB = 55° rFkk
ABC = 65° gks] rks BIC Kkr djsaA
(A) 130° (B) 120°
(C) 140° (D) 110°

64. If x = 3 – 8 , then find the value of x4 – 4

1

x
.

;fn x = 3 – 8 , rks x4 – 4

1

x
 dk eku Kkr djsaA

(A) 816 2 (B) 814 3
(C) 830 (D) 835

65. Find the minimum value of 27sin 3 × 81cos 3.

27sin 3 × 81cos 3 dk U;wure eku Kkr djsaA
(A) 3–5 (B) 4–5

(C) 3–6 (D) 4–3

66. Perimeter of a rhombus is 2P unit and sum
of length of diagonals is m unit, then area
of the rhombus is:

,d leprqHkqZt dk ifjeki 2P bdkbZ gS vkSj fod.kksZa dh
yEckbZ dk ;ksx m bdkbZ gS] rks leprqHkqZt dk {ks=kiQy
fdruk gS\

(A)
1

4
 m2P sq. unit/oxZ bdkbZ

(B)
1

4
 m2P sq. unit/oxZ bdkbZ

(C)
1

4
 (m2 – P2) sq. unit/oxZ bdkbZ

(D)
1

4
 (P2 – m2) sq. unit/oxZ bdkbZ

67. Three sides of a triangular field are of length
15 m, 20 m and 25 m long respectively. Find
the cost of sowing seeds in the field at the
rate of ` 15 per sq. m.

fdlh f=kHkqtkdkj {ks=k dh Hkqtk,a 15 eh-] 20 eh- rFkk 25

eh- gSA ̀  15 izfr oxZ eh- dh nj ls {ks=k esa cht cksus dk [kpZ
Kkr djsaA
(A) ` 3000 (B) ` 6000
(C) ` 7500 (D) ` 2250

68. The average of first three numbers is double
of the forth number. If the average of all the
four numbers is 12. Find the 4th number.

izFke 3 la[;kvksa dk vkSlr] pkSFkh la[;k dk nksxquk gSA pkjksa
la[;kvksa dk vkSlr 12 gksA pkSFkh la[;k Kkr djsaA

(A) 16 (B)
48

7

(C) 20 (D)
18

7

69. The distance between two pillers of length
25 m and 36 m is x m. If two angles of
elevation of their respective tops from the
bottom of the other are complementary to
each other, then the value of x ( in meters)
is:

25 eh- rFkk 36 eh- yacs nks [kEHkksa ds chp dh nwjh x eh-
gSA ;fn ,d [kEHks ds 'kh"kZ dk nwljs ds vk/kj ls rFkk nwljs
ds 'kh"kZ dk igys ds vk/kj ls mUu;u dks.k ijLij iwjd gS]
rks [kEHkksa ds chp nwjh Kkr djsaA
(A) 30 m/eh- (B) 16 m/eh-
(C) 15 m/eh (D) 9 m/eh-

70. Each internal angle of regular polygon is two
times its external angle. Then the number
of sides of the polygon is:

fdlh cgqHkqt dk vkarfjd dks.k mlds ckg~; dks.k dk nks xquk
gSA cgqHkqt dh Hkqtkvksa dh la[;k Kkr djsaA
(A) 8 (B) 6
(C) 5 (D) 7

71. The sum of two number is 37 and the
difference of their squares is 185, then the
difference of the two numbers is:

nks la[;kvksa dk ;ksx 37 gS vkSj muds oxksZa dk varj 185

gS] rks la[;kvksa dk varj D;k gS\
(A) 4 (B) 5
(C) 3 (D) 10

72. If (a – b) = 3, (b – c) = 5 and (c – a) = 1, then

the 
3 3 3 – 3a b c abc

a b c

 

 
 will be:

;fn (a – b) = 3, (b – c) = 5 rFkk (c – a) = 1 gks] rks
3 3 3 – 3a b c abc

a b c

 

 
 gksxk&

(A) 17.5 (B) 20.5
(C) 10.5 (D) 15.4
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Direction (73-75) : Read the graph and answer

the following questions.

funsZ'k (73-75) : uhps fn, x, vkys[k dks è;kuiwoZd i<+s vkSj
mÙkj nsaA

60

50

40

30

20

10

2012 2013 2014 2015 2016
Years/o"kZ

` 
in

 l
a
k
h

 y
k[
kksa 

esa
`

Expenditure/O;;
Income/vk;

73. What is the difference in profit between

2013 and 2014 (in lakhs of rupees)?

o"kZ 2013 rFkk 2014 ds chp ykHk dk vUrj (yk[kksa esa)
gksxk\
(A) No profit (B) 5

(C) 10 (D) 15

74. The ratio of the average income of all the

years to the average profit is:

lHkh o"kksZa esa vkSlr vk; dk] vkSlr ykHk ls vuqikr crk;saA
(A) 24 : 13

(B) 48 : 17

(C) 12 : 7

(D) 8 : 3

75. The total income exceeds the total

expenditure by:

o"kZ 2012 ls 2016 rd dqy vk;] dqy [kpZ ls fdrus
yk[k vf/d gS\
(A) 90 lakhs/yk[k

(B) 105 lakhs/yk[k
(C) 115 lakhs/yk[k
(D) 120 lakhs/yk[k

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com
Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152,Ajmer-7340019191, Kankroli-7229922209

ANUSHKA ACADEMY



Part - IV (English Language)

Direction : In Question nos. 76 to 78 some part
of the sentences have errors and some are
correct. Find out which part of a sentence has
an error and blacken the oval [ ]
corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken the
oval corresponding to (D) in the Answer Sheet.

76. Reena is the woman who (A)/ I know (B)/
you can always rely upon. (C)/ No error (D)

77. It was with great difficulty (A)/ that each of
the brothers (B)/ could get their share of
property. (C)/ No error (D)

78. She could not continue her study (A)/
because her means (B)/ were poor. (C)/ No
error (D)

Directions : In Question nos. 79 to 81,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [ ] in the
Answer Sheet.

79. In a survey conducted by a library, it was
recently _____ that parents wish their
children to read books with high moral
content.
(A) revealed (B) concurred
(C) exposed (D) inferred

80. I forbid you ______ there again.
(A) going (B) not to go
(C) to go (D) forego

81. RBI will impart no information _____ anyone
regarding demonetisation of ` 500 and
` 1000 notes.
(A) with (B) to
(C) for (D) from

Directions : In question nos. 82 to 83, out  of
the four alternatives, choose the one which best

expresses the meaning of the given word.

82. STRATAGEM
(A) Ruby (B) Trick
(C) Strait (D) Stratum

83. FORSAKE
(A) Forego (B) Disintegrate
(C) Separate (D) Abandon

Directions : In question nos. 84 to 85, choose

the word opposite in meaning to the given word.

84. DREARY

(A) Dribble (B) Unusual

(C) Interesting (D) Solitary

85. KEEN

(A) Indifferent (B) Clever

(C) Immobile (D) Impassioned

Directions : In question nos. 86, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correct/wrong and mark

your answer in the Answer Sheet.

86. (A) Privilege (B) Priviledge

(C) Privalege (D) Privelege

Direction : In Question nos. 87 to 89, four

alternative are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

87. They have latched on to tourism as a way

of boosting the local economy.

(A) promoted

(B) discovered

(C) exposed

(D) explored

88. Why do you fight shy of me?

(A) fight with (B) avoid

(C) embarrass (D) shout at

89. When he asked me the way to the cafeteria,

I told him to follow his nose.

(A) to find it by himself

(B) to ask someone else

(C) to follow me

(D) to go straight ahead

Direction: In Question nos. 90 to 92, a

sentence/ a part of the sentence is italicised

in underlined. Below are given alternatives to

the italicised part at (A), (B), (C) which may

improve the sentence. Choose the correct

alternative. In case no improvement is needed

your answer is (D). Mark your answer in the

Answer Sheet.

90. AIDS is spreading like wild fire.

(A) AIDS are spread like wild fire.

(B) AIDS is spreaded like wild fire.

(C) AIDS has been spread like wild fire.

(D) No improvement

91. I hope to talk him over to our view.

(A) I hope to talk him on to our view.

(B) I am hoping to talk him our view.

(C) I hope to talked him for our view.

(D) No improvement
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92. Copernicus proved that Earth moves around the

sun.

(A) Copernicus proves that Earth moves

around the sun.

(B) Copernicus proved that the Earth

moves round the sun.

(C) Copernicus proved the Earth moved

around the sun.

(D) No improvement

Direction : In Question nos. 93 to 95, in the

following question, out of the four alternatives,

choose the one which can be substituted for

the given sentence.

93. A small village or a group of houses

(A) Community (B) Settlement

(C) Hamlet (D) Colony

94. Underground place for storing wine or other

provisions

(A) Garage (B) Cellar

(C) Attic (D) Hall

95. A list of explanations of rare, technical or

obsolete words

(A) Dictionary (B) Glossary

(C) Lexicon (D) Catalogue

Direction (Q. No- 96 - 100) : In these question

you have two brief passages with six questions

following the passage. Read the passage

carefully and choose the best answer to each

question out of the four alternatives.

Passage – 1

Freedom has assuredly given us a new status

and new opportunities. But it also implies that

we should discard selfishness, laziness and all

narrowness of outlook. Our freedom suggests toil

and creation of new values of old ones. We should

so discipline ourselves as to be able to discharge

our new responsibilities satisfactorily. If there

is any one thing that needs to be stressed more

than any other to the new set-up, it is that we

should put into action our full capacity, each one

of us in productive effort - each one of us in his

own sphere, however humble. Work, unceasing

work, should now be our watch-word. Work is

wealth, and service is happiness. Nothing else

is. The greatest crime in India today is idleness.

If we root out idleness, all our difficulties,

including even conflicts, will gradually disappear.

96. Nothing else can give us joy except

(A) idleness

(B) wealth

(C) freedom

(D) service

97. Anyone can free himself from the clutches

of difficulties, if he

(A) fulfils his responsibilities

(B) discards idleness

(C) discharges his obligations

(D) eliminates narrow outlook

98. What has freedom undeniably offered to the

citizens of India?

(A) New outlook

(B) New responsibilities

(C) New values

(D) New opportunities

99. One thing needs to be stressed more than

anything else in this new set-up. It is that

people should

(A) discipline themselves suitably

(B) work to their full capacity

(C) substitute old values with new ones

(D) discard narrowness of outlook

100. _____ work should be the motto of our

citizens.

(A) Incessant

(B) Productive

(D) Ingenious

(D) Resourceful
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